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FE RKRQ) 1142 (+1.0OILZA #3Q) 11.60 (+1.1) | BRED #LA(2) 11.80 (+1.1)| Il E£41(3) 11.84 (+1.5)|#IAR HEEQ) 11.86 (+1.1) L BREEQ) 11.88 (+1.5)| A #2HR(3) 11.90 (+1.5)
wemnt | onzn | 100m HRE-KAP BB MR +BHT-FH +BHE-F&H +BE-JI#ES BMAE-ERP #HHEE-RH
wF WEO) 11.86 (+1.1)
- EREH
) fEx BEAQ) w2361 (+3.2)[iRED MA(2) w24.07 (+3.2)[HK EFIEQ) w24.24 (+3.2)|1BR #(3) w24.39 (+3.2) ALl KEQ) w24.96 (+4.0)| T HEHHE3) w25.00 (+4.0)|&:E 1£(Q3) w25.07 (+4.0)|FERE #E(3) 25.23 (+1.6)
R INFHINFRG +BRT-EH + BT JI#EH +BE-EO0PEFE INFBR-BINFRF INFBINFBF +BE-EHHEB #HHEE-RH
FE RKRQ) 53.13|@x &EA®G) 53.66|{fRIR KiE(2) 56.89| PG HEQ) 57.23| 1R REIEQ) 57.33| B EEQ) 57.60| & REEG) 57.98|fE%F IE(2) 58.31
R HRE-KAP INFHINFRG + BT JI#EH INFHINFBG AR ERP BB M + BT )IlEH BMAE-ERP
ARHE BEHEG) 2:06.29|E1E R#HEG) 2:09.20 (§E0 3CHE(3) 2:11.06| iR [5E Q) 2124413 FHES) 21366 F# #H@3) 2:1377| Kl {EEQ) 2:1451[@AH HZEE) 2:14.61
R wE-wEERR INFH/INFRF INFB-FH BRE-\BP +BET-JI#ES +BET-JI#ES +BE-T&H +BE-HEH
B fERE TTIE) 4:2392|%:8 FIEREG) 4:2524 (K0 EB1K(3) 4:2559|&F HA£@G) 4:2599|15:F JE(3) 4:26.02| EtE EA®3) 427.22|fRIR RIE®B) 4:2749[EFE WHE3) 4:27.89
R + BEr-)IEH +BE-TF&H +BEr-HhEd INFB-FER AR ERP +BET-JI#ES + BHr-)IlEH +BE-T&H
) fERE TTIE) 9:37.56 3Rk UB(3) 9:41.23((E:2 FIER) 9:45.14 (80O EBIK(3) 9:45.78 (B0 KEE(3) 9:46.56 (#f1L FE#2(2) 9:48.38(BIA BAFE(2) 9:48.80|NE EZ@Q) 9:50.93
R + BEr-)IlEH +BE-TF&H +B#-F&H +BEr-Hh 2 +BE-EHEB +BHE-+BETH +BET-+BETH =& Wt
Eg 18Q) 14.83 (+1.0) B0z EK() 15.42 (+1.0)[i®D RP(Q) 1571 (+1.0)[@H #HEQ) 17.15 (-0.8)[ LB ZE@®) 17.56 (+1.0)|EFE #Z2ER(3) 18.35 (+1.0)| HREF (2 18.67 (+1.0)(#0 3EH(2) 19.01 (+1.0)
R + BEr-)IlEH FRERRB BB/ R EFP +BET- &P MW +BE- &S +BE-HAS
+ BET- IS 46.88|HiFEH - FHh 47.32|+BHET- &kt 48.08|/NF & INFAHA 48.46|F B HIRPA 48.76 |- 2R T 4882 |m R 1EIRFB 48.96(+ BHET- HEF 49.03
BiE #B) FERE Q) EH BEAQ) 2% B3Q 1=l :3 IK)) BRI Q) % 12 &)
6121 | 4x100mR |i@3H $R3#EQ) &I BE®O) ML i) T BEAR) EiE BEEQR) B®F MEQ) Nk 2N HE EEO
L 2 S6)) FR FREQ) +% %10) TR BEQ) Lt HEQ) mE ERO) T FEEQ) &/E MEE)
AR EEEO) AR H2ERR) BiE BEQ B =) BF —#EQ) B MEQ) B {&(2) BEH KF2)
B BEMP FEBAG) 1.65[K1L BRIA3) 155|482 &) 145|158k #5H(2) 1.45|8R1% Eh(3) 1.45|i%8 #A(2) 1.35 R BHIQ) 1.30|'RE RAER(1) 1.20
FRE-AAP +BHE-F&H +BET- +BHET-HhEH + BET-faH +BET-+BETH INFHINFRH +BE-EHEHB
I BIER FRAT(3) 370|FB —i@Q) 290|i%R FKREO) 2.80|iE 1A(3) 220
+BHET-+BETH +BET-)IEH HRE-EH FRE-RP
. 'R 5O 6.11 (H.D| M 6@3) 5.95 (+1.8)| A HREQ) w5.90 (+2.3)| Rt HR(3) 582 (+1.5)|E+E EHQ) w5.49 (+2.1) [/ BE3) w5.40 (+2.1)|34A H%Q) 539 (+1.7)|HL KEEG) 5.30 (+2.0)
O | +BE-EFO0PFEFE +RHr-f 2 +BEr-JI#EH INFB-FEHR BRE N\EP BMRE-ERP BB M INFH-RDNFHH
P i HAG) 1315\ AL BEH(3) 10.35| E4F WEiIN3) 10.12|/MR ETFQ) 100730 #h(3) 9.29 BTER BIKEA(2) 900|E& fEZ(3) 8.26|/Ek Hh(3) 8.18
+BHE-HEH i REPE(T) MAR-\Eh +BHr-JIES + B HET-KiRF +BHET-HEH +BE-F&H BMAE-ER$
AR EEEQ) 11.75 1.7 [RER fAA(2) 11.78 (1.D)| 3 HRBEQ) 11.88 +1.7)[ A ME®Q) 11.93 1. [RAN HEQ) 12.18 (+1.7)
SPHF [6/12A| 100m
+ 86T JIl&EH +BRT-EH +BEr-JI#EH - REP HRE-RP
B2 15Q) 14.99 (+0.5)| &0 RF) 15.23 (+0.5)ERT #2HR(3) 16.39 (+0.5)
6H20 | 110mH
+BET-)IIEH BB M HHEE-EH
E8 R#HEG 4.40[;&K BEG) 4.10| %R 12FM) 400(Z3R REM) 4.00 Il REB() 3.60
em | onon | e +BE#BES +BEE +BEE +EIHRES +BEE
Bl 'RE) 4.00
ABETE

w (wind assist) : JBEZH
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B LBHEQ) w12.85 (+3.1)|#0 NE®B) w1287 (+3.1)[m BE®Q) w1301 (+3.1) |35k BAKEQ) wi13.04 (+3.1)[ILE K@) wi3.12 (+3.1)| ARE XM (2) wi341 (+3.1)| K 1E(2) 13.45 (+1.3)
) T - INFHINFRG BMAE-ERP BAB-RIRP BRE-ERP AR ERP +BE-JI#ES - EmP
ALl FRER(2) 13.45 (+1.3)
R ERRE(R)
) ARE EHQ) w27.50 (+2.4) [ K# FIF(3) w27.78 (+2.4) KO HEE@G) w27.87 (+2.4)| KiE 1E(2) w2802 (+2.1)| 2% FEKEG) w28.37 (+2.4)|ILE HHFIE) w2844 (+2.4)|FE HWHEQ2) w2892 (+2.1)|BEF FEQ) w29.15 (+2.1)
R + BT )IEH INFB-FER hfa 2B RE) - REP AR ERP +BHE - + BT )IlEH +BEr-EH
B BEE2) 2:2250 (R EE() 2:27.70|&FB FEW) 2:29.27(fFiE FEQ) 2:2992(FAR Z7EQ) 2:30.02( L4t FER(2) 2:3029| BEMT REQ) 2:30.65 |BEE SHFED(N) 2:31.00
R HRE-KAP BRI ABETH +BHT-FH HRE-AAP BB ABETH INFBINFBF +BEr-EH BB N
B B BEE2) 4:56.85| 1L FAR(1) 5:02.16 ;T4 +ifE(2) 5:04.31 (=% t£iEEQ) 5:06.23({FiE FEQ) 5:07.47 [#3 BKHEQ) 5:08.34(XF# %2 5:0845(iRE HAEQ 5:09.06
R HFEE AALF +BH#T-+BETH +BE-HEP +BE-HEF A - AAH wE-pEERS HFEE AP +BEr-+a#TH
6H2A | 3000m
&L $Z@) 14.46 (-0.1)|[GE FTEQ) 16.14 (-0.) | 2% F&(2) wi16.17 (+3.0)|{£#E #FQ) 1624 (-0.N[A R#H2) 16.32 (-0.1)[ &Il BHQ) 16.51 (-0.1)|ILE #HHE) 17.26 (-0.0)(IiE #(2) w17.33 (+3.0)
R +BE-EHEB - EmEP INFBINFAHR + BET- AR BB ERR BB M + BET- K BB - ABHETH
BRE ERPA 50.50 | /NF& INFAPA 53.62|+ B HET-JIIFEH 54.01| %8 /INHPA 54.24| ¥ 5 H K 54.33|+BHET-HEA$ 5483|/NF&-FH 55.12|+ B BT -+ HATPA 55.28
blid:c S ENE)) ik g3 HK)) HE BEEQ hiE &Q) IR TEQR) H5E B0 ERE R TO) B &TXREG)
621 [ 4x100mR |LLIE 34KR(3) HE B2 BE ®mEQ BNl EEQR) B8 L3O il $Z23) Ki# FFQ) =iE TE)
B BEQ) 2% FEQ % BAQ) WwiE EHFQ) =1 {0)) WA B2 B Rih2) [T e 6]
#0O MEQ) AE LVHE®M) ARE E£HEQ) 2 EHEO X R#&H2) [ITE N 35 {0)) B %ZQ) BERE EMX(2)
B AR BHRFEG) 1.46[/NEE FRX(3) 1.46|48 #DER(3) 135 3¢Tm(2) 1.35(40 #h3E(2) 13088 EE(Q2) 1.25| 8541 BEQ) 125(&0 TR 1.25
INFB-ER R RRREC) FRGB-ERS INFBNFRF R RRRE(R) + BTl Eh +BE &R BN
M FYME) 2.70
6120 |tk
+EE®BES
xR ®AQ w467 (+3.7)| BB FHAA) 465 (+0.4)|hE FEQ) wh64 (+23)|EH E#(2) wa57 (+2.4)|INEE 7E(3) w454 (+32) |80 FE@Q) 453 (+1.0)|B k(2 w452 (+3.2)|EHE LFKE) w4.48 (+2.7)
R e HRE ERE INFBNFRS +BEr-ER HRE EIRE #HFE HeH R RERE(H) INFH R #HFE Hh
R B BHEQ 10.22|iB3H FQ) 9.45|FB g2 896 |14+ #HEE®) 8.79(iA BILH(2) 861|H15 152 849| KR #&E(2) 819|HP FEH®) 8.18
+ BHT- +BE-HEB +BE7-HHEB B8 AL#H BB M HRE-RP +BE-EFO0PFEFE +BEr-h 2
mE FEG) w13.34 (+2.2) [ ELTH(2) w1359 (+2.2)|NE #(2) w1361 (+2.2)| 25 FERE) w1363 (+2.2)|Ei4E 1&(2) wi3.68 (+2.2) %% X&) w1420 (+2.2)| B R#E(1) wi4.30 (+2.2)|#£#E XTH(1) w1431 (+2.2)
B e B +BHE-HEH INFHINFBG BAB-'R$ BRE-ERS HRE-RP HRE-RP INFBIMFAFR INFB-INFAFH
IRE #TEQ) 16.10 (+09)| 2% FEQ) 16.12 (+0.9)
6720 [ 100mH
-2 INFANFAR

w (wind assist) : JBJEZ %




